-v0.16 = -04 , -4 = -2 0|22 §&| 0|t}




2. 3x(x-2y)-x+2y E AR A2

@) 3x-1)(x-2y) @ (3x+1)(x+2y)
® (Bx=2y)(x+Y) @ (3x-2y)(x—-1)

® (Bx+2y)(x-1)

3x(x—2y) —x+ 2y = 3x(x — 2y) — (x —2y)
— (x-2)(3x-1)




3.

=154, a9 Pgor g2 A

rlo
(N

O -+V15 @ 15 ® +3v5
@i\/ﬁ ® 35
a =15 9 AlFZo|E2 ++/15 o]t}




a>0,b>0 <YL o] & 7

@ Va2b = ab @ —Vab?=b+a @ —aVb= Va?b

€8

@ Va?b=ab
@ —Vab® = —-b+a
® —aVb = -Va2b
@]t _ ¥

a a




-l<a<249d, /(a+1)2+ /(a-2)>+a-3

@a @ 3a-4 ®0
@ a-6 ® 3a+1

“1<a<29Xa+1>0,a-2<00°E2=2
(=X)=a+1-(a-2)+a-3=a
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® VI9-4+& A A 9 9] 17T,
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7.  (a—b)m*+ (b—a)n® & UEH5HH?

© (@t+b)mtnm-n)  @a-b)m+n)n-n)
® (a=b)m+n)’ @ (a=b)(m* +12)
® (a=b)(m-n)’

(a=b)ym? + (b —a)n? = (a-b)(m? - n?)
=(a-b)(m+n)(m—n)




8. 2x*-8xn? & ASEalotH?

@D x(x+2y)(x—2y) (@)Zx(x +2y)(x = 2y)
® 2(x+ 2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x—2y)

2x3 — 8xy? = 2x(x? — 4y?)
— 2x(x+ 29)(x - 2)




X2 —dxy + 4y? + 2x — 4y — 15 & AFE8|51H?

@® (x—2y+3)(x—2y-5) @ (x+2y+3)(x+2y-5)
® (x—2y-3)(x+2y+5) @ (x+2y+3)(x+2y+5)

(@)(x—2y—3)(x—2y+5)

B

(x® —dxy +4y?) + 2x -4y - 15
=(x-2)%4+2(x-2y)-15
=A%2+24A-15=(A-3)(A+5)
=(x-2y-3)(x—2y+5)




10. 4 (x—1)2 - 9% & A5-Rafst?

@ (x+3y-1)(x=-3y+1) @ (x+3y+1)(x-3y-1)
(@)(x+3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(F4) = {(x— 1) —|-3y} {(x— 1) —3y}
=(x+3y-1)(x-3y-1)




11. x*+4(a+b)x+ 3a® + 6ab + 3b* = A5-E3HoHH?

® (x+a+b)(x—a-b) @ (x+a+b)(x+2a+ 2b)
® (x+a+b)(x+2a+3b) @ (x+a+b)(x+ 3a+2b)
@(x+a+b)(x+3a+3b)

x? +4(a + b)x + 3a® + 6ab + 3b*
= x? +4(a+b)x + 3(a+ b)?
= (x+a+b)(x+ 3a+ 3b)
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13.

@ 2x% - 8x% — 10x = 2x(x? — 4x - 5)

= 2x(x-5)(__)

© (x+y)?+3(x+y) +2°04[ |8 A 2 A&7,

O x-1,x-y @ x-1,x+y ® x+1,x-y
@x+1,x+y ® x,x+y

@ 2x% - 8x% — 10x = 2x(x? —4x - 5)
=2x(x-5)(x+1)




14. (x-2)x*-3(x-2)x-10(x-2) & IFEdl5tH?

@) (x-2)(x-5) (x+2) @ (x-2) (x+5) (x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)

B

A=x-2 2 A5
(x=2)x>=-3(x=2)x-10(x-2)
= Ax? - 3Ax - 10A

= A(x® - 3x - 10)
=A(x-5)(x+2)
=(x-2)(x=5)(x+2)




15. (a-b+3)%=(a+b+3)* S s g AL?

@© —4b(a-3) @ —4a(b+3) ® -8b(a+3)
@ —da(b-3) @) -1 (a+3)

B

(a-b+3)>%-(a+b+3)°
={(a-b+3)+(a+b+3)}
{(a-b+3)—(a+b+3)}
= (-2b) (2a +6)

= —4b (a+ 3)




16. 49x%2 -9+ ldxy +y? =2l

15235k EHY (ax+y+b)(ax +cy + 3)
7F = ek o, 444 a, b, ¢ ol ot a— b+ ¢ O] FZ FoFH?

@ 2 @ 4 ® 6 @11 ® 16

B

49x? + 14xy +y? -9 = (Tx +y)? - 32

=(Tx+y+3)(7Tx+y-3)
a=7,b=-3,c=1

La-b+c=11




17.

o2 x* - 81yt & QAE5) gF Ao}, o] w D Qtof gure
ZtA4=2] & FotHA?

w81yt = (2 + [P+ -y
O 13 @ 15 ® 18 @ 20 ® 24

xt =81yt = (2® + 9%)(x* - 9?)
= (x* 4+ 9y?)(x + 3y)(x - 3y)
~9+3+3=15




